ilioydo 53 Glyd Oyigr b L3 yuly 53 VBT 9 hied )3 (5)982> )90 4 (8L ogad a3

AAQoFool - AAQeF0q - FFOYHAD) - FFVIFFYY - YVIAIPYE - YVIAIFAQ

oP1 ylyes a5

.+ O0X =VA- —> OX =4 —> X =\A

k=rs — CKB=\¥r

Y \"x+) Y,fx-H‘

(X = \

= () xr’ =15x4

R I R R

(———)x—:—x—:—:—
SR "R Y R YN

Yo Yo
“xab)y=—x-ab"
oy o ¥f

vy v
xtab’e Y =lxLabte”
YOf Y

Yoo Y Yo .
xEabo%y =1xap cf
vy vooq

Y 4 0 .
_X_X_a\fb\?c\

Yoo XY vy

oY1AAQoFooY q oPIFFoVY DAL O 0SS wwliw 1M1 6 111303 10 1 Uy 1 10082 ¢ o 1305

")S welas |) Owi ¢ QSLM))M




y
X(X¥ =y =X(X =¥y )X +35Y T +FY)

<) (FX +A(FX —Y)

= Yoy =i-vy = —vy=—v > y="
»

X +V=\% — X =13

ad+cd bc+cd _\
bc+dc bc+dc

X==Y = Y0 +0-V+m=o

W=\.+m=o0 — m=-v

X"'—¥X —=\-+§ X+Y X' —¥X =% X+Y (X—-F(X+)
X = X =
X +Y X +\ X +Y X +\ X+

=X ¥

YO+ YF Y. =14

oVIAAQoFooY a oVIFFoVDAL0 .0sS wuluw ++A\BT a6 w3 8 2ASb 1 e e o wad N5 +S canbad 1 ad DT  dsbu Ao



